Math F314: Linear Algebra Homework RREF Additional Problems

4x+3y+ 12z =-7
1. Consider the system of linear equations S ={2x+3y+ 6z=-1
3x - 92=6
(a) Write the augmented matrix of the system S; and perform row operation, by
hand, to transform it into reduced row echelon form.
(b) Use the reduced row echelon form of matrix to solve the system of equations.

(c) Demonstrate that your solution is correct by showing it is a solution to S by
direct calculation.

2. For each system of linear equations below, the reduced row echelon form of the
augmented matrix is provided for you. Use it to find the solution set to the system.

w-x-3y =1 10 -1 0 4
x+2y =3 01 2 03
(@ §, = ,
2w—x—4y+2z=7 00 0 11
W -y 225 00 0 00
w- x-3 =1 10 -1 00
Xx+2y+ z=4 01 2 00
(b) s3 = s
-w+2x+5y+2z="17 00 0 10
00 0 01

-w+ x+3y— z=1



